Maths – Monday 13th July
[bookmark: _GoBack]L.O: To multiply and divide numbers by 8
1) Start by reading the learning reminders below.
[image: ]
Practice counting forwards and backwards in 8s out loud. 
[image: ]
[image: ]There are 7 coins across the top and 8 coins down the side so 7 x 8.
We could write 7 x 8 = 56 or we could write 8 x 7 = 56

[image: ]There are 56 coins and 8 pirates so we need to work out 56 ÷ 8. 
We could count on in 8s to 56 to work out the answer.
56 ÷ 8 = 7

[image: ]
[image: ]Now, we still have 56 coins but only 7 pirates so we need to work out 56 ÷ 7. 
We know 56 ÷ 8 = 7 so we can use this division fact to work out 56 ÷ 7.
56 ÷ 7 = 8

[image: ]
[image: ]
[image: ]

2) Have a go at the Maths questions.
There is a choice of mild (easier) or hot (harder) questions. You can choose which one you want to do or have a go at them all.
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Pieces of Eight

Pirate Jake gets seasick and has to go home,
now there are only 7 pirates left!
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How many gold coins does cach pirate get now?
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Pirate Jake gets seasick and has to go home,
now there are only 7 pirates left!
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How many gold coins does each pirate get now?
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What are the multiplication and division facts that describe this array of oins?.
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What are the multiplication and division facts that describe this array of oins?.
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How many gold coins have the pirates got?

How did you work this out?
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How many gold coins have the pirates got?

How did you work this out?
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Pieces of Eight
There are 8 pirates.

How many coins would each pirate get?

Can you share the treasure equally between them?
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There are 8 pirates.

How many coins would each pirate get?

Can you share the treasure equally between them?




